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(1) AR, SXE4M S B (Rl AE X ST B LA R DA — A S B ) A L.
A. Susan is a fast worker.

B. Susan did Jack’s homework.

C. Susan didn’t do the homework on her own.

D. Susan has not finished her homework.

PO TR 5 “work” 4 3, Hoft B, C.D XL FI4F = “homework”, /i A 5 D 5 T4

“Hug”H%,B 5 C XS51E B A K.

B :M: It’s hard to believe that Susan has already finished her homework.

W. Well, she copied Jack’s homework and made a few changes.

Q: What does the woman say about Susan?
(2) KXTERESC, PAZEx i k4 S 2 9 BT A R H 9 —AN A B A2, 4n.
Questions 18 to 20 are based on the passage you have just heard.

18. A) To prevent car accidents. C) To drive the car automatically.
B) To monitor the driver’s health. D) To measure the driver’s pulse.

19. A) It sends out signals for help. B) It takes over the driving immediately.
C) Tt stops the car automatically. D) It sounds an alarm to warn the driver.

20. A) It can measure the driver’s alcohol level in the blood.

B) It bases its analysis on the driver’s heartbeat.

©) It can quicken the driver’s response to emergencies.

D) It monitors the signals transmitted from the driver’s brain.

AR CEE 3, 18 FAIEAFIEASGRIERE BB R, 5 18 EW LB I
B B R AR A AR THENIA IR E SERA XK. B 19 BB LB AR
(E5 /8 QEEE BEHE M THE It 15— AR R R E . 20 BRI K
PO A T AEJECER . R M R T BRE T B A SCAT BB R — R BRI E R R E
JE . When a sleepy driver has trouble in keeping his eyes on the road and gets too close to
another car, an alarm sound will warn the driver. I1f nothing is done, the car will
automatically come to a stop and in this way prevent an accident. This is a new device
which will soon be tested in an experimental car in Japan. The computer warning system
keeps track of a driver’s condition by monitoring his heart beat with signals transmitted
from a band round his wrist. The wrist band records the drivers pulse which measures the

heart beat. Each pulse in the wrist sends a signal to the computer. By analyzing the pulse
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rate , the computer can determine whether a driver is drunk , sleeping or ill. Devicesin other
parts of the car can also tell the computer if the car is too close to another vehicle or is
moving dangerously. The computer will sound the alarm when a problem arises, and will
automatically stop the car if the driver ignores the warning.
[6)f5:18. Why is a computer system installed in an experimental car?

19. What does the computer system do first when a problem arises?

20. What is special about the new computer system?
(3 ZEEAWE ., X E B 54T 00 0 258 5ok D) Y 4 SCHE N ST 32 R R B L DA e

BRAETJE )T B S5 H FE R 2 0 Fr i) i W] BB IRIMESE .

In police work, you can never predict the next crime or problem. No working day is

(36) to any other, so there is no “(37) ” day for a police officer. Some
days are (38) slow, and the job is (39) ; other days are so busy that there
is no time to eat. I think I can (40) police work in one word: (41) . Sometimes

it’s dangerous. One day, for example, 1 was working undercover; that is, I was on the job,
but I was wearing (42) clothes, not my police (43) . 1 was trying to catch
some robbers who were stealing money from people as they walked down the street.

Suddenly, (44) . Another policeman arrived,

and together, we arrested three of the men; but the other four ran away. Another day, I helped

a woman who was going to have a baby. (45)

I put her in my police car to get her there faster. I thought she was going to have the baby
right there in my car. But fortunately, (46)
AL FEREE TN TN, 36. M FRIENE, FEN to, BT 3L, f"ﬁ"‘%
similar %17, 37. W& —> 5§ A FAEXT R A O 218 . 38. 2184 slow B&EIR, I 5
T 3CHY busy AR B, 39. R SHTIC slow FKik[F— BB, 40. B—4 shiaFEE, 5% in
one word” &M . 41. T RER A IRNBIL A1 , BXT b SCE 8 TAERFERBESE . 42. 5 43. #BAY
REKRAR. 42. ATRER“MEAR”,43. MR ER”. 4. (L FMEF & "XANEWR, & — B4l
Tk, 45. 5 46. B TRI— MR E B XA 2K, Ko 46, §TAY“ But, fortunately”, N3
HETHERANAEERER, BT .
36. identical; 37. typical; 38. relatively; 39. boring; 40. describe; 41. variety; 42. normal;

43. uniform
44. several bad men jumped out at me; one of them had a knife and we got into a fight
45. She was trying to get to the hospital, but there was bad traffic jam
46. the baby waited to “arrive” until we got to the hospital ’
(4) ARYEE T RIS 5 ST i B0 . BEHRT0 A A IRl 94 45 F 1 3 22 R 5 Bh )
Xof 1 H R AR i e ST R AR, '
@ shiaiRd, —ME R THA". .
A. Try to help him find rooms in another hotel.
B. Check to see if there are any vacancies in her hotel.

C. Let him move to a room with two single beds.
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D. Show him the way to Imperial Hotel.
@ JZ i i) Bk R I A AL B 1 RN B AR S ARGE AT %o N
A. He is confident.

He is worried.

O F

He is bored.
He is angry.
. Robust.

Generous.

oEp D

Brave.
D. Dangerous.
@ %iA4EiE , — M) Bt s E -, .
A. The admission of a patient.
B. Diagnosis of an illness.
C. The old man’s serious condition.
D. Sending for a doctor.
@ HeERGEH SR SO E T R R R, N
A. It’s larger than the old one.
B. It’s smaller than the old one.
C. It’s quieter than the old one.
D. It’s worse than the old one.
(5) HRHELEFE I (.52 (R AU . — Bk H 4 5 16 O A e R 01, HLR)IC 254 B9 5 ]
— B TR B AR X R HERR ENRI AN A B L A R RE R MR RIS AF , #4T
AP FLI ] e 330 b 325 R A A R 58] 15 SR BI040 X
A. They will invite both Peter and his daughter to have dinner.
B. They will invite neither Peter nor his daughter.
C. They will invite Peter only.
D. They will invite Jackson.
W 2 B3R 43, FRAT B SRS R B A AT T
A. Laura wanted to conceal her accident.
B. Laura explained her accident to her friends.
C. Laura wanted to report the accident in her lower voice.
D. Laura wanted to talk about her accident quietly.
A% 55 [7) A A B 5 AR S Laaura X 33X WK RS A0 S e Ay b 38— (R 6 1) A A A R LIRS 41
HHREMHEIRIE.
Wk A I BTN A8 5% B Ak B — ek MAAR R Z 408, 0.
A. His only son is dying.
His mother died some time ago.
He didn’t look after his sick wife.

He hasn’t taken good care of his son.

U0
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Section A

11. A).The girls got on well with each other.
B) It’s understandable that girls don’t get along.
C) She was angry with the other young stars.
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12.

13.

14.

16.

17.

18.
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D) The girls lacked the courage to fight.

A) The woman does her own housework.

3) The woman needs a housekeeper.

C) The woman’s house is in a mess.

D) The woman works as a housekeeper.

A) The Edwards are quite well off.

B) The Edwards should cut down on their living expenses.
C) It’1l be unwise for the Edwards to buy another house.
D) It’s too expensive for the Edwards to live in their present house.
A) The woman didn’t expect it to be so warm at noon.

B) The woman is sensitive to weather changes.

) The weather forecast was unreliable,

D) The woman turned cold all of a sudden.

. A) At a clinic.

B) In a supermarket,

C) At a restaurant.

D) In'an ice cream shop.

A) The woman did not feel any danger growing up in the Bronx,

B) The man thinks it was quite safe living in the Bronx district.

C) The woman started working at an early age to support her family.
D) The man doesn’t think it safe to send an 8-year-old to buy things.
A) The man has never seen the woman before.

B) The two speakers work for the same company.

C) The two speakers work on the same floor.

D) The woman is interested in market research.

A) The woman can’t tolerate any noise.

B) The man is looking for an apartment.

C) The man has missed his appointment.

D) The woman is going to take a train trip.

Questions 19 to 21 are based on the conversation you have just heard.

19.

20.

A) To make a business report to the woman.

B) To be interviewed for a job in the woman’s company.
C) To resign from his position in the woman’s company.
D) To exchange stock market information with the woman.,
A) He is head of a small trading company.

B) He works in an international insurance company.

C) He leads a team of brokers in a big company.

D) He is a public relations officer in a small company.



21.

A) The woman thinks Mr. Saunders is asking for more than they can offer.
B) Mr. Saunders will share one third of the woman’s responsibilities.
C) Mr. Saunders believes that he deserves more paid vacations.

D) The woman seems to be satisfied with Mr. Saunders’s past experience.

Questions 22 to 25 are based on the conversation you have just heard.

22,

23,

24.

25.

A) She’s worried about the seminar.

B) The man keeps interrupting her.

C) She finds it too hard.

D) She lacks interest in it.

A) The lecturers are boring.

B) The course is poorly designed.

C) She prefers Philosophy to English.
D) She enjoys literature more.

A) Karen’s friend.

B) Karen’s parents.

C) Karen’s lecturers.

D) Karen herself.

A) Changing her major.

B) Spending less of her parents’ money.
C) Getting transferred to the English Department.

D) Leaving the university.

Section B

Passage One

Questions 26 to 29 are based on the passage you have just heard.

26.

27.

28.

29.

A) Rent a grave.

B) Burn the body.

C) Bury the dead near a church.

D) Buy a piece of land for a grave.

A) To solve the problem of lack of land.

B) To see whether they have decayed.

C) To follow the Greek religious practice.

D) To move them to a multi-storey graveyard.
A) They should be buried lying down.

B) They should be buried standing up.

C) They should be buried after being washed.
D) They should be buried when partially decayed.
A) Burning dead bodies to ashes.
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B) Storing dead bodies in a remote place.
C) Placing dead bodies in a bone room.

D) Digging up dead bodies after three years.

Passage Two
Questions 30 to 32 are based on the passage you have just heard.
30. A) Many foreign tourists visit the United States every year.
B) Americans enjoy eating out with their friends.
C) The United States is a country of immigrants.
D) Americans prefer foreign foods to their own food.
31. A) They can make friends with people from other countries.
B) They can get to know people of other cultures and their lifestyles.
C) They can practise speaking foreign languages there.
D) They can meet with businessmen from all over the world.
32. A) The couple cook the dishes and the children help them.
B) The husband does the cooking and the wife serves as the waitress.
C) The mother does the cooking while the father and the children wait on the guests.
D) A hired cook prepares the dishes and the family members serve the guests.

Passage Three .
Questions 33 to 35 are based on the passage you have just heard.
33. A) He took them to watch a basketball game.
B) He trained them to play European football.
C) He let them compete in getting balls out of a basket.
D) He taught them to play an exciting new game. \
34. A) The players found the basket too high to reach.
B) The players had trouble getting the ball out of the basket.
C) The players had difficulty understanding the complex rules.
D) The players soon found the game boring.
35. A) By removing the bottom of the basket.
B) By lowering the position of the basket.
C) By simplifying the complex rules.
D) By altering the size of the basket.

Section C

For Americans, time is money. They say, “you only get so much time in this life;
you’d better use it wisely. ” The (36) will not be better than the past or present, as
Americans are (37) to see things, unless people use their time for constructive

activities. Thus, Americans (38) a “well-organized” person, one who has a written




